T4—FR ANV — wno =zm

Feeder Ear for Crossing, Socket Head Cap Screw

[X]#& SF11020000
(270002)

IFUTEL

IZAER UL = &R(BE)
300 AT IL AR
600 . _
d=x ﬂ i
300 NSO OENERT
1000 INSUYEMAERT
1200 ATV GG THERTS

L=800 SEEE:1.96 ke

i B ® % HE # B " &
1 14— 28| C1100
2 Lhl 6 SUSXM7 M14 x 32 x 24
3 | TTIEhES 6 | SUS304 M14
4 | EFERPDIHILEFVE 6 | SUS304 M14
5 | B 1 B = AR 100mm?(91/1.2)

92



T4—R AN — @no) sssum

Feeder Ear for Feeding Branch, Socket Head Cap Screw

[X]# SF11050000
(271002)

JSUF4 Cul00mm?

JSUFE Cu200mm?

p23 332
1 w137 | p19.2
51 @ il
e | g
| L 1
AN Y N\
71 T N\
// i \\
-_I |
g | \.
g\ i |
N\ | /)
N i /)
\ i 7
|
| | | 2
71 1\
/ | \ 1
% | N
! o
— ettty p— iyl pgieleyieletepiedlpepaiaie My f—
L e [ p=450 L %0 | N
H=610 100:100:100 BEZ E=:2.78 ke
o B & 4 = # B " &
1 1 Y— 25| C1100. b
2 | B 2 B R 100mm*(91/1.2)
3 | nEEREYE CAC 100:100:100
200:100:100

93



T4—FAN— @no zesemsaw

Feeder Ear for Feeding Branch Twisting Type,

Socket Head Cap Screw (271010)

JS U548 Cul00mm?

H=530

JS U748 Cu200mm?

$32
| 19.2

jm
3 @ .

80

[X]# SF11130000

100:100:100 BEE = :2.67 ke

m & 5 = # B " &

1 A7 — 25| C1100. b

2 | B8 2 | EXAHEAE 100mm?(91/1.2)

3 | SlkiEmENR) CAC 100:100:100
200:100:100

94



(o] AN
AU si—kqvo—m
X & SF11120000

Spring for Feeder Ear (27000401)

$35

ol

£2H19.5

= ==
i o fB
- © :
) 83
04— KA 1 N '
y ! \

0
k¢
_____ | _ 2 NN
- - C R g \:rr/

13 !

|

|

@

|

l I
83 ’
o
Y
HNEEE:022ke
B B & A H= # B " &
1 IV 1 C5212 $3
2 Abwss— 1 C5212 $3

95



SBENIRMER ser

Suspension Fitting for Feeder Branch Twisting Type

[X]# SF11100000

(271006)

710~960

=
=]

XFEAR

(mm)

= L P H

960 | 600 | 550 | 610

710 | 500 | 450 | 530
RIS B & 4 = ® B " &
1 | BEOEHTIERE 15| 4006, it
2 | YAU—T X8 15 | Ryh—mr—hr, i
3 IV 1 SUS304
4 LEES 1 SUS304
5 SRERL -V 15| sUS304 M8
6 N/ L—4 1 F4026

96



=B/ NL—4

Separator for Feeder Branch

[X]# SR01080000
(90190626-1)

| |
:| ! I
| !
SR =
I! | ! I O
T 1 E T II ©
| | !
| ‘ | ||
o (@
1) \
= Wt
HWOFEE:012ke
o 0} om A o= # H " &
t/L—4 2 F106
IRITIESHEY 2 SUS304

97



3*7’5‘%; R[L 12

& SF01120000
Connector No.1, Socket Head Cap Screw (251012)
3 60 Me:St135~90mm?
Cu100~PH356mm?2
oo /
:__jj:___/f U T —’<:\:i:f'__ -
-y
\\ // \\
o NA K \
O \_,/—// .
\
\\
\\
\
]
|l =
| -
I
T , w0
/
2 /'
),
Cu100mm?2 '/,
/
7
7
g
9 //
= - ™
N IENYZ\Y7\)
I I\ JA\JA\. /| . e _
=== =—=—cc=3=— SRt R —
90 \
Tr:GT110~170mm?2
o B & A = # H " &
1 14— 15| c1100, b
2 | B8 1 B = AR 100mm*(91/1.2)
3 aR93957(2B) 15 | S15CXIZC11004th

98



ARITIEE  wnoss

Connector No.2 and No.3, Socket Head Cap Screw §(82F52101122?000

Me:St135~90mm?2

3 Cul100~CbCub0Omm?2
60
ch
:_1:‘_::_—/‘/’ T P—m——y S
’/ ) ! 1 ’/ \\\
l\ | / e/ AN
\ 77, .
N - \\
\\
\
|
N
| *
T 2 / =)
22 (Cu70mm?) /,
32 (Cu40mm?) ',
/)
7
7
7
/
=
ElOIO
N
E=tE = E=cc==:-=—=cz=-==c:z=—==:c==c:=:=%c:==:===
60 \Tr:GT1 10~170mm?2
B B & 4 = B " &
1 1 Y— 15| C1100, ftb
2 | B | ERmRES | 2000000
3 AR5 7(2B) 15 | S15CXIZC11004t:




ORI EER  snoris si=ewn

Connector No.2-1 and No.3—-1 (B-M-T), X & SF01100000
Socket Head Cap Screw (256003)
TPOIIBEE— A N+ TE— A TFUJIEE—A

//_J’
| &=l
30
60
/@ 4
o
e — i ——————————— Ny 1L B LN =t B - el e —
A N T 1 — T o e —_C p—
T N\\./
v¥ N\ NA VK
Me:St135~90mm?
Cu100~CdCuB0mm? \ 6
— \
H
=]
o/
) @
i 4
4

= 2—12(Cu70mm?2)
Z 3—15(Cu40mm?2)

60
i B & 4 = % B " &
1 A7 — 15| C1100, b
2 | B8 1 B = AR
3 AR5 T(2B) 15 | s15CXIXC1100, 4t
4 | arvEH3T(1B) 15 | s15CXIXC1100, 4t
5 mFEE 1 C1100
6 | WENER 1 B = AR Cudomr

100



ARTEIEER  snuriz. s

[X]#& SF01230000

Connector No.2-2 and No.3-2, Socket Head Cap Screw (250004)

Me:St135~90mm?2 60 >0,
Cu100~CdCu60mm’~\\

by 4 \\ N+ R
/ o \
e M
(T T ) = '
T s ° j
i /
/)
/)
4
1 /’
//’
. AN )
€0 2—25(Cu70mm?2)
3—22(Cu40mm?)
RIS 0} om A = ® B " &
1 1 Y— 15| C1100, ftb
2 ECE 1 ERENRR
3 AR5 7(2B) 18| s15CXIXC1100. fih
4 AR5 7(2B) 18| s15CXIXC1100. fih
5 aRxoBR95T(1B) 18| s15CXIXC1100. fih
6 HENER 1 ERENRR

101



ARI3EER  snomwr

Connector TMMT, Socket Head Cap Screw (270001)

[X]# SF11010000

Me:St135~90mm?2
Cu100~CdCub0mm?2

30 60

IFUsHiEL

—-=x ~_ ..~ TT
N 7 mpn
/ ifii
//’ 30
N+ VR —== \———/ :;:; )u
/ I
/ Cu100mm?2 Nt R
1 //, (91/1.2) /, EE

e ey gl &
90
RS B & 4 = # B " &
1 aOxsv44 8 1S | C1100, th
2 | axvBEH357(2B) 25 | S15C#th/G1100fth
3 | axrv4aH3T(1B) 25 | S15C#th/G1100fth
4 | WENER 2 | BREEE Cudomr




OARTIEER ssoviv—nz

[X]# SFO118M000

Connector with Clamp Ear (253010)

Me:St135~30mm?2

% 60
rm rm

T
Cu40. 70. 100mm?2
==\
Y @ =====c== E=——=c==—=zc=—==cc=—=—cc==F=-===s===cs===3==_
60
Tr:GT110~170mm?2
S B & 4 = B " &

1 95T — 15| Cc1100. 4
2 Big 1 ELAERR
3 aAR9895T(2B) 15| S15C. i

103



ARIE3EER  u=w

DL & SE03010000
Connector for Pressure Equalization (230005)
1/ 35 St90mm? 24

\|4
35 24
GT110mm?

o B ® % = # B " &

1 14— 25 | BC6

2 | ARIEARILE-FUb 2% | sSUS304 M10

3 | FES 2 | SUS304 M10

4 EhEE 2 SUS304 M10

5 | EiRpDHILEFVE 2 | SUS304 M10

6 | B 1 B SR 35

7 | REE€HN— 1 SUS304

104



ARI3EE seamow

Connector Type O for High—speed Rail “Shinkansen”

[X]#& SF01220000
(252001)

H(#% 150)

Ax CdCuB0mm?

PH150mm’

7

30 N o
60 NSDE
(mm) (mm)
B LOEEFE| A FOUERE| B
Cu60mf 14 GT110mm | 15
PH150mM 18 GT170md | 17
o B & 4 = ® B " &
1 Av— 18| ¢c1100
2 9527 15| ©1100
3 B 2 C1011 576/0.26%R40
4 i R AR 8 C1100 0.6
5 ®Hl 4 SUSXM7 M14 % 35 X 26
6 | TTIEhES 4 SUS304
7 iR HHIEF VR 4 SUS304 M14/7 i

105



3*79%;.\ Cu100md

Connector FM-FM-T Cu100mr

[X]# SRO1130000
(02603700)

90
i B & 4 HE # B " &
1 T4—FA4Y—AR 1 C1100BE
2 J4—FA4YvY—B& 1 C1100BE
3 | B¥nl 1 SUS304 or XM7 | M14x 32
4 | TTIERES 1 SUS304WPB
5 | EiRpDHILEFVE 1 SUS304
6 | U—Fig 1 JIS C 3102 #238100mm
7 BElE T A — 1 C1100W b1.2

106



3*79%;.\ AJEFIF PHPH R&E

[X]# SRO1140000

Contact Wire Support fitting Cu200mm (02603500)

/
\i,

|
70

M10x 70X 26 ®\\\’

32

57

-

X@ G
o

.

53

FAN
6,

S/

(&

70

HMREE 131 ke

i B & 4 HE % B " &
1 KOw/so)w> 25 | $5400
2 Sy THRGEE 1 SS400 t9
3 | 7148 1 SS400 M16 X 40
4 ASANES 2 F106 t1.5% 29
5 | TEE 1 SUS304 M16
6 | RAFY+ 1 SS400 M16

107



ORI3EE  sswmm enen zmes

3 - & SR01150000
Connector FM—FM Cu200mm (02603603)

Cu200mm2(37,/34/0.45)

PH356mm?

280 —]
PH356mm2i

i B & 4 HE # B " &
1 TRRJ—T 2 | CAC103
2 [ ffa s F 2 | c1100 C2-200P
3 J—Rg 1 Cu 200mn (37/2.6)
4 | RAAVIHRILE-FIb 45 | SUS304 M12 X 60 X 40
5 o 8 SUS304 M12

108



ARTRIST  sessms om)

[X]#& SF41040000

Gonnector Clamp Single Bolt Type for Copper Wire (262001)

30
2 /® 29.5
2
/

54

- - o | _Y — @ N

16

(mm)

BHEOEIRIRE| 41 | BEIRIRE d2
Cul100 13.2
CdCu80 115 | Cu40 8.4
CdCu60 10.0

HNEEE:041 ke

o B ® % M= # B " &
1 95207 15| ¢c1100
2 Lhl 1 SUSXM7 M14 x 50
3 | MiEhES 1 SUS304 M14
4 | EFERPDIHILEFVE 1 SUS304 M14/1\F

109



ARTRZIST  mmesze s

=z
Connector Clamp Two Bolt Type for Copper Wire 5(822210%5;?000
30 /® 60
2 30
™
> )
I «©
{ - | o _ i ﬁ— | @ @
N0
«©
_{o ]
CELEL 2
(mm)
BEOEIRGIE| d1 | BRIRE | d2
Cu100 13.2 Cu100 13.2
Cu70 10.8
CdCugd | 115
Cu60 10.0
CdCu60 | 10.0 oo 5
PH356 245 cui00 122
PH150 16.0 oo 5
ST PH356 I RBEOMNARARILE
o 0 & 2 %= ! i *&
95T 15| C1100
£nl
- 2 | SUSXM7 M14 x 50
ARV
MIFHEE 2 | SUS304 M14
ERPHAIEF VR 2 | SUS304 M14/1f5

110



OARIBITT oz s
X SF41010000

Connector Clamp Single Bolt Type for Steel Wire (260001)

(mm)
LEORRIERE| 4 | BIRRE| 42
Cul00 | 13.2
St135 150 | Cu70 | 108
Cu40 | 84
Cul00 | 13.2
St90 120 | Cu70 | 108
Cu40 | 84
St55 96 | Cu22 | 6.0
m & B M A = # B imr &
1 9527 15| s15C
2 | IEBRARILE-FU 15 | SUS304 M14 x 60 X 40
3 | MiFhES 1 | SUS304 M14
4 | ERPDHAILEF I 1 SUS304 M14/h iz

111



ARTRIST

2B(BLSZEHE StR)

.
Connector Clamp Two Bolt Type for Steel Wire 7 SF41030000
(261001)
32 /< 60
2 30
| .
g s ]
' 2 A~ \ ~ K
— 1y S __(_$\___(4$_\
| o AN T A AT A
A\ Y
i \.
30 BhERAIE R
(mm)
LEOEIRRIE| Jd1 | ERRE| J2
Cul00 | 132
Cu70 10.8
St135 15.0
Cu60 10.0
Cu40 8.4
Cul00 | 132
Cu70 10.8
St90 12.0
Cu60 10.0
Cu40 8.4
Cul00 | 132
Cu70 10.8
SR 135
Cu60 10.0
Cu40 8.4
B B & 4 = # B " &
1 9527 15| S15C
2 | IMBRARILL-FU 2% | SUS304 M14 x 60 X 40
3 M4 EE 2 SUS304 M14
4 | BRPDALEF U 2 | SUS304 M14/1f5




73.\/70’("?_ SK

[X]#& SF21030000

Clamp Ear Type SK (253002)

26

BhEAEI 2 2

15

(41D

16.5

30
60

Oy #R () | EHR(mid) | d (mm)

40 8.4
85,110,170 70 10.8
100 13.2

KEOVIREERDMEAELEIFHERICELS,

HWEEE:050 ke

i B ® % M= # B " &
1 95T — 15| C1100
2 Lhl 2 SUSXM7 M14 x 32 x 24
3 | TTiEHhES 2 | SUS304 M14
4 | EFERPDIHILEFVE 2 | SUS304 M14/1\F

113



ARTRI) T

[X]#& SF31010000

Connector Clip (24000200)

ik B

\H\
] B
o | f
--— ) _-
| e
fe]
o 7 @\ ’
-l & ] i [
Lr) }
0 . e
®/' ’ ‘\%;6%‘%&?
(mm)
BESEMIRIE| A1 | EREIE| J2
Ccu40 | 84
St135 15 St55 | 9.6
Cu70 | 108
Ccu40 | 84
St90 12 St55 | 9.6
Cu70 | 108

(ORTEIE BEIFRSUIBDIES

HWEEE:055ke

o B ® % HE # B " &
1 | AR 1 FCMB310

2 | B 1 FCMB310

3 | CK 1 FCMB310

4 URJLE-Fwb 15 | SUS304 M12

5 | EiRpDHILEFVE 2 | SUS304 M12




i’ﬂ Ef,i.\ MEE—L P IVEH

Connector Combining Fittings [X]# SF01130000
for Pressure Beam 1-Angle Steel (256001)

40

(mm)

BE | A | B | C BREE
L65F | 65 | 108 | 110 | 0.79 kg
L75F | 75 | 118 | 120 | 0.87 kg
L9OFH | 90 | 133 | 135 | 0.98 ke

S B & A HE % B i &
1 =A€Y 1 $S400
2 | RARILL-FVE 15 | $S400 M16
3 | MidhES 1 | SUS304 M16
4 | ERpDHIEF Vb 1 SUS304 M16
5 | inFEE 1 | c1100 arvaEEITHE

115



HEEE

MEE—L PO IVER

Pressure Equalization Fitting [X]#& SF01140000
for Double Angles of Pressurized Beam (256002)
A
M16
|
il
(@]
X <
N .
o A B
N \
/ | [
3 50
(mm)
FEfE | A B HRE=
L65F | 178 | 110 | 1.13 kg
L75F | 218 | 120 | 1.19 kg
o B & A #H= M B " &
1 THE8 L& 1 SS400
2 | TREETE 1 SS400
3 NARILLFIk 15 | SS400 M16
4 M4 EE 1 SUS304 M16
5 | EiRpdHIEFVE 1 SUS304 M16
6 wre&a 1 C1100 oI RIZHE

116




BEEE nze—r5om

5
Pressure Equalization Fitting for Pressurized Beam Pipe §?32%B%18000
——
I ).
n

©
S
©O
(mm)
D 76.3 | 605 | 486 | 42.7 | 340
P 130 | 100 | 90 | 80 | 70
#1 2B2(1.22 kgl1.02 kgl0.96 kgl0.92 kgl0.83 kg
m & B M A = # B imr &
1 AC G VAWVIN 15 | SS400
2 | RABRILL-FIk 2% | $S400 M16 X 65 x 35
3 | MiFhES 2 | SUS304 M16
4 | ERPDHAILEF I 2 | SUS304 M16
5 | TAREVRANS5— 1 | SGP $27.2xt2.8 %20
6 wre&a 1 C1100 a3 BITHE

117



BHEEE wuss

oL . : - & SE02010000
Pressure Equalization Fitting for Pull-off Fitting (231004)
TN

- |

I Te

-

! e—

5 n
N ’ 8mm?2(7/7/0.45)
| B3l FIr3IET/LE
i TN ﬁ
= \—i————_/————qth
~
N/ \®
11 25
B B & 4 HE ® B " &
1 BBARILE 2 C5191
2 B 1 B EERE 8mm (7/7/0.45)
3 | RAFY+ 2 | ©3602 M8
4 (Lt £ 2 C5191 M8
5 BUE 2 SUS304 $25x%25

118



